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Research Methodology

Section Id : 549470316
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 59

Section Marks : 70

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 54947022454 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary stage of promoting the learning in a child is

Options :
Imitation
1. ¢
Instinct
Motivation
3 %
Conditioning
4, %

Question Number : 2 Question Id : 54947022455 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

A good teacher is one who

Options :
gives useful information
1. ®
gives notes to students
2. %
explains concepts and principles
3. %
inspires students to learn
4. ¢

Question Number : 3 Question Id : 54947022456 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The highest contribution of the sensory organ in effective learning belongs to

Options :

sense of touch

sense of hearing



sense of taste

sense of seeing
4. &

Question Number : 4 Question Id : 54947022457 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The classroom communication should essentially be

Options :
Abstract
1 ®
Empathetic
2.4
Non-descriptive
3. %
Contrived
4. %

Question Number : 5 Question Id : 54947022458 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is the highest level of cognitive ability?

Options :

Knowing
1. ®

Understanding
2. %

Analyzing
3. %

Evaluating

4. v

Question Number : 6 Question Id : 54947022459 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is NOT a component of effective teaching.

Options :

Questioning to check for the understanding of students

Providing students with feedback
2. %



Being flexible about how long it takes to learn

Reactive mode of students” behavior
4.«

Question Number : 7 Question Id : 54947022460 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

SWAYAM refers to :

Options :
Study World of Action-Learning for Young Aspiring Minds
1. ®
Study Webs of Active-Learning for Young Aspiring Minds
2.¢
. Student World of Action-Learning for Young Ailing Minds
3.
Study Webs of Active-Learning for Youth Awareness Models
4.%

Question Number : 8 Question Id : 54947022461 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is the main purpose of using ICT for class room teaching is
fo

Options :

Keep students engaged in the class

1%
Divert student’s attention in the class
2. %
Optimize learning outcomes of teaching
3.¢
Make the classroom instructions are interesting
4. %

Question Number : 9 Question Id : 54947022462 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

GUI stands for

Options :

Graphical User Interference

Graphical User Interface
2.



Graphical User Identifier

Gaming User Identifier

Question Number : 10 Question Id : 54947022463 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following be the true evaluation of the students if possible?

Options :

Formative
1. %

Evaluation at the end of the course
2. %

Evaluation twice in a year
3 %

Continuous evaluation

4.

Question Number : 11 Question Id : 54947022464 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Teaching in Higher education implies

Options :
Presenting the information given in the text book
1 ®
Asking questions in the class and conducting examinations
2. %
Helping students to prepare and pass the examinations
3. %

Helping students to learn
4. ¢

Question Number : 12 Question Id : 54947022465 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary task of a teacher is
Options :

To teach the prescribed curriculum

To stimulate and guide students learning
2. ¥



To provide diagnostic and remedial is aid wherever desired

To promote habits of conformity to adult demands and expectations

Question Number : 13 Question Id : 54947022466 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the aims of scientific method in research 1s to

Options :

Improve data interpretation
1 ®

Eliminate spurious relations
2.¢

Introduce new variable
3. %

Conform triangulation
4. %

Question Number : 14 Question Id : 54947022467 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is NOT a characteristic of research?

Options :

Research is symmetric
1 ®

Research is not a process

2.¢

Research is not passive
3. %

Research is problem oriented
4. %
Is Section Default? : null

Question Id : 54947022468 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)



Read the following passage carefully and answer the questions from 15 to 21:

Intelligence is associated with academic achievement by most people. The various
theories of intelligence created by psychologists hold that there are two kinds of academic
intelligence-verbal and mathematical or logical. Intelligence is an inherited trait that impacts
individual behavior and performance according to most experts. But, many research studies have
revealed that the environment greatly impacts the development of intelligence. Since. one
property of intelligence i1s analytical and reasoning skills. people with high intelligence quotient
will understand the problem at hand better than people with a low IQ. Many organizations
consider intelligence as an important criterion while recruiting. For instance in many
management schools, a lot of weightage is given to high IQ while admitting students or
recruiting faculty members. The qualities of intelligent people are high energy drive.
achievement and competitiveness. Very intelligent employees learn job — related skills and other
organizational practices quickly and organizations have to spend less time training them. People
with high imtelligence have good decision making ability due to their good analytical and
reasoning skills. With a high achievement drive, they are mostly very productive. As the saying
goes, ‘A wise enemy is better than a foolish’ friend:

Even with such a high IQ, very intelligent people may not always be very happy. The
high IQ makes them dysfunctional leading to anxiety and depression. Generally speaking, people
with high intelligence quotient are often dissatisfied people.

Sub questions

Question Number : 15 Question Id : 54947022469 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the two kinds of academic intelligence defined by psychologists?

Options :

Mathematical and logical
1 ®

Logical and psychological
2. %

Verbal and logical
3.¢

Mathematical and social
4. %

Question Number : 16 Question Id : 54947022470 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the possible ill effects associated with high IQ people?
Options :

Mania and hallucination

Depression and hallucination



Bipolar disease

Anxiety and depression

Question Number : 17 Question Id : 54947022471 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a student stands first in the class, the general credit is given to:

Options :

Contacts
1. %

Intelligence
2.9

Hard work
3 %

Attractive features

4, %

Question Number : 18 Question Id : 54947022472 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Dissatisfaction is often witnessed in people with

Options :

Creative skills
1, *

High expectations
2. %

Good decision—making ability
3.¢¥

High education qualifications
4, %

Question Number : 19 Question Id : 54947022473 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

High energy drive, achievements and competitiveness are valued during

Options :

Admission
1. %

Recruitment
2. %

Promotion



Admission and recruitment

Question Number : 20 Question Id : 54947022474 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Those who understand a problem in a short span of time will be people with

Options :
High IQ
1. ¢
- Low IQ
Average IQ
3%
Good IQ
4. %

Question Number : 21 Question Id : 54947022475 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Another word for “Weightage’ is

Options :



Credit

1. ¥

Mass
2. %

Weight
3. #

Freedom

4. %
Is Section Default? : null

Question Number : 22 Question Id : 54947022476 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Synopsis of a research is

Options :

Summary of research

Blueprint of a research
2.¥

Extract of research



A plan of research
4.%

Question Number : 23 Question Id : 54947022477 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following objectives is not associated with teaching aids?

Options :
To present difficult concepts in simpler manner for students
1. ®
To make the students comparatively more active and dynamic
2. %
To make advertisements of attractive and miraculous events to students
3.
To determine the audio-visual aids by keeping mind individual differences in
the class
4. %

Question Number : 24 Question Id : 54947022478 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The first step of research is

Options :

selecting a problem
1. ®

searching a problem
2. %

finding a problem
3.

identifying a problem

4. %

Question Number : 25 Question Id : 54947022479 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these is not a method of data collection?
Options :

Interviews

Observations



Questionaries

Experiments
4.9

Question Number : 26 Question Id : 54947022480 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A researcher conducted three experiments with 100 subjects each following uniform
design instead of one experiment with 300 subjects. This is known as

Options :

Validation
1.¢

Manipulation
2. %

Observation
3. %

Replication
4, %

Question Number : 27 Question Id : 54947022481 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The conceptual framework in which a research is conducted is called a

Options :

Synopsis of research
1. %

Research design
2.¢

Research hypothesis
3. %

Research Paradigm
4.%

Question Number : 28 Question Id : 54947022482 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is an identification of the quality of a research journal?
Options :

Impact Factor
1.v

h — index



g — index

110 — index

Question Number : 29 Question Id : 54947022483 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ethics in research 1s not related to

Options :
Scientific method
], %
Reliability
2. %
Self-interest
3.
Humanity
4. %

Question Number : 30 Question Id : 54947022484 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The objective of a research work can be written .

Options :
only in question form
1. %
only in statement form
2.¢
both question and standard form
3. %
in hypothetical form
4. %

Question Number : 31 Question Id : 54947022485 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Complete the series: 3C4. 7G5, 1216, 18R7, 25Y8,

Options :

32F9

3G9

Lad



32G9

Lad
Lad
o)
-1

Question Number : 32 Question Id : 54947022486 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a certain code language, if CHECK = 30 and TIME = 47 then what is the code for
HOCKEY?

Options :

52
1. %

67
2.9

48
3. %

12
4, ®

Question Number : 33 Question Id : 54947022487 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The ratio of the present ages of A and B is 5:6. Fifteen years ago. the ratio of their ages
was 7:9. Find the present age of A.

Options :

10
1. %

30
2. %

50

3.¢

65
4, #®

Question Number : 34 Question Id : 54947022488 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A shopkeeper losses 15% if an article is sold for Rs.102. What should be the selling
price of the article to gain 20%?
Options :

150

1. ®



144

2.9

138
3. %

132
4. %

Question Number : 35 Question Id : 54947022489 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a class, the average age of the students is 21 years. If their class teacher, aged 45
vears is also included, the average of the class would be 22 years. Find the number of
students in the class.

Options :
20
1. ®
23
2. ¢
24



-2
Lh

Question Number : 36 Question Id : 54947022490 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What sum of money amounts to 5800 in three years at 15% per annum with simple
interest?

Options :

3800
1. %

4000
2.9

4200
3. %

4600
4, %

Question Number : 37 Question Id : 54947022491 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Starting from his house, Krishna travels a distance of 8m towards North, he then turns
left and travels a distance of 6m, then travels 5m South and finally he travels 6m
towards the West to reach his office. What 1s the approximate distance between his
house and the office?

Options :
14m
1. %
12m
2. %
12.5m
3. ¢
14.5m
4, %

Question Number : 38 Question Id : 54947022492 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A person can cover a certain distance in 8 hours at a speed of 50 kmph. At what speed
he must travel to cover the distance in 5 hours?

Options :



400 kmph

1. %

80 kmph
2. ¥

100 kmph
3. %

300 kmph
4.%

Question Number : 39 Question Id : 54947022493 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following groups of fraction are in ascending order?

Options :
8 57
% 11 8§ 10
7 5 8
108711



3.¢
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Question Number : 40 Question Id : 54947022494 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements are mutually inconsistent?
Mostly poets are not egoistic

L
I1. Mostly poets are humble
I11. Some poets are egoistic
IV. Some poets are not non-egoistic
Options :
ILand IV
1. *
IT and 11T
2. %
I and IIT

3.¢



III and IV

Question Number : 41 Question Id : 54947022495 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Some teachers are not sincere” is an example for which category of proposition?

Options :

Particular affirmative

Particular negative

2.

Universal affirmative
3 %

Universal negative
4, %

Question Number : 42 Question Id : 54947022496 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are two statements — one is labelled as Assertion (A) and the other is
labelled as Reason (R)

Assertion (A): Skill development is a key feature in every individual’s life.

Reason (R): An individual. who wants to get employed. needs to possess good
education only.

In this context of above two statements choose the correct option codes:

Options :

(A) 1s true, but (R) is false

1.
(A) 1s false. but (R) is true
2. %
Both (A) and (R) are true and (R) is the correct explanation of (A)
3. %
Both (A) and (R) are true and (R) is not the correct explanation of (A)
4, %
Is Section Default? : null

Question Id : 54947022497 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:
From the data furnished in the following table, answer the questions 43-45. Area under
different crops over the years 2016-20 is in lakh hectares.

Year Mango Vegetables Flowers Total crop area
2016 53 72 1 187
2017 56 75 1 194
2018 58 78 2 202
2019 61 79 2 207
2020 63 79 2 209

Sub questions

Question Number : 43 Question Id : 54947022498 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following two years have registered the highest rate increase in total crop
area?

Options :

2017 and 2018

2016 and 2017



2017 and 2019

2018 and 2019

Question Number : 44 Question Id : 54947022499 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following has recorded the highest rate of increase in crop area during
2016 to 20207

Options :

Mango

Vegetables

2. %

Flowers
3. %

None of these
4, %

Question Number : 45 Question Id : 54947022500 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year, area under mango has recorded the highest rate of growth?

Options :
2019
1. #
2017
2.9
2016
3. %
2018
4. ®
Is Section Default? : null

Question Id : 54947022501 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)



Note:

Study the following pie chart carefully and answer the questions 46-49. It gives data on
number of students having specializations in different study branches.

Marketing
22%n

Sub questions

Question Number : 46 Question Id : 54947022502 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the total number of students having specialization in HR. Marketing and IT?

Options :

4640



4080

2. %

4400
3.¢

4260
4, %

Question Number : 47 Question Id : 54947022503 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the total number of students having IB as specialization?

Options :

1520
1.v

1280
2. %

1120
3. %

1360



Question Number : 48 Question Id : 54947022504 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the ratio of the students having Finance as specialization to students having HR
as specialization?

Options :

11:9
1. %

4.7
2. %

18:13
3. %

6:7
4. &

Question Number : 49 Question Id : 54947022505 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Students having IR as specialization forms approximately what percent of students
having HR specialization?

Options :

114
1. ¢



106

2. ®
76
3. %
87
4, %
Is Section Default? : null

Question Number : 50 Question Id : 54947022506 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the statement “most of the students are obedient’ 1s taken to be true, which one of the
following pair of statements can be claimed to be true?

A) All obedient persons are students

B) All students are obedient

C) Some students are obedient

D) Some students are not disobedient
Choose the correct codes from the options given below:

Options :

Aand B



B and C

2. %

Cand D
3.¢

Band D
4, %

Question Number : 51 Question Id : 54947022507 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given below are two statements I and II followed by two conclusions (A) and (B).
Suppose if the statements are true, which of the following conclusions can logically
follow?
Statements:

I: Some flowers are red

II: Some flowers are blue
Conclusions:

A: Some flowers are neither red nor blue

B: Some flowers are both red and blue

Options :

only (A) follows



only (B) follows

2. %

both (A) and (B) follows
3. %

Neither (A) nor (B) follows
4.

Question Number : 52 Question Id : 54947022508 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

At selling price of Rs 240, a person incurred a loss of 10%. To earn a profit of 10%,
what should be the selling price?

Options :
Rs 310
1. %
Rs 300
2. ®
Rs 285.50



Rs 293 .33
4.

Question Number : 53 Question Id : 54947022509 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Every woman is white and ‘not every woman is white’ comes under which domain
source of opposition

Options :

Contradictory
1.¢

Contrary
2. %

Sub-contrary
3. %

Sub alternation
4. %

Question Number : 54 Question Id : 54947022510 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mercury and leads are poisonous substances that contribute to




Options :

Noise exposure

1. %
Poor air quality
2. %
Water contamination
3. %
Skill pollution
4.

Question Number : 55 Question Id : 54947022511 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the binary equivalent of decimal number 48 is 110000, then the binary equivalent of
decimal number 51 is given by

Options :

110010

11011



110001

110100

Question Number : 56 Question Id : 54947022512 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following represents one billion characters?

Options :

Kilobyte
1. ®

Megabyte
2. %

Gigabyte
3.¢

Terabyte
4. %

Question Number : 57 Question Id : 54947022513 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Python is :

Options :
an operating system
1. ®
an application program
2. %
a compiler
3. %
a programming language
4.9

Question Number : 58 Question Id : 54947022514 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A description in conununication process is called

Options :

Interaction

Noise
2. %



Transgression

Feedback

Question Number : 59 Question Id : 54947022515 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is an example of asynchronous medium?

Options :
Radio
1. ®
Film
2.8
Newspaper
3.9
Television
4. %

Question Number : 60 Question Id : 54947022516 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following are priority areas in relation to the sustainable development
goals?

A) No poverty

B) Zero hunger

C) Reducing Urbanization

D) Peace, Justice and Strong institutions

Choose the correct answer from the options given below:

Options :

A, B,C
1. ®

AL D
2. ®

B, C.D
3. %

A, B. D
4.

Question Number : 61 Question Id : 54947022517 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the largest soil group in India?



Options :

Red soil
1. %
Black soil
2. %
Sandy soil
3.
Mountain soil
4, %

Question Number : 62 Question Id : 54947022518 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a waterborne disease?
Options :

Typhoid

Hepatitis



Cholera

Dengue
4.

Question Number : 63 Question Id : 54947022519 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the clinical trial in which blood is transferred from recovered COVID-19 patients
to Corona virus patients who is in critical condition.

Options :
Hydroxychloroquine
1 ®
Soidarity
2. %
Remdesivir
3. %
Plasma therapy
4.9

Question Number : 64 Question Id : 54947022520 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first case of noval coronavirus was identified in

Options :

Beijing
1. *

Wuhan
2.¢

Tianjin
3. %

Shanghai
4.%

Question Number : 65 Question Id : 54947022521 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following sources of energy has maximum potential in India?
Options :

Solar energy
1. ¢



Wind energy

2. %

Tidal energy
3. %

Ocean thermal energy
4. %

Question Number : 66 Question Id : 54947022522 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is regarded as an immediate need of an educational
organization?

Options :

To ensure self-employment capabilities in the students
1.¢

To enrich the knowledge of future generation
2. %

To focus on Employment opportunities



To make provision of maximum service opportunities

Question Number : 67 Question Id : 54947022523 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The scheme “Unnat Bharat Abhiyan™ aims to

Options :
Increase number of colleges in India
1. %
Increase quality in Higher education
2. %
Link higher educational institutions in the country with at least five villages
3.
Increase strength of students in colleges in India
4.%

Question Number : 68 Question Id : 54947022524 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one of the following are the goals of Higher education in India?
A) Access

B) Equity

C) Quality and Excellence

D) Relevance

E) Value based education

F) Compulsory and free education

Select the correct answer from the code given below:

Options :

A B EandF

ABC DandFE

2.9

ABCDEandF
3, %

A BandE
4, %

Question Number : 69 Question Id : 54947022525 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following 1s NOT a constitutional body?

Options :
NITI Aayog
1. v
Election comimission
2. %
Finance commission
3 %
Union Public Service Commission
4. %

Question Number : 70 Question Id : 54947022526 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is ABC as per NEP-2020?
Options :

Academic Bank of Credit
1. ¢



Academic Basic Certificate

2. %

Annual Basic Certificate
3. %

Annual Bank of Credit
4, #
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Question Number : 71 Question Id : 54947022527 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s common characteristic of rural communities?
Options :

Good shopping choices



High Density of population

2. %

A large service economy
3. ¢

Abject Poverty
4. %

Question Number : 72 Question Id : 54947022528 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the Right to Education Act 2019, *Child’ is defined as the male or
female with the age in between

Options :

5 to 8 years
1. %

61to 11 years
2. %

6 to 14 years
3.¢

5 to 14 years

4. %

Question Number : 73 Question Id : 54947022529 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
The 2009 Tendulkar Committee Report is related to methodology of estimation of

Options :

Poverty
1.

Unemployment

Inequality

Inflation Rate

Question Number : 74 Question Id : 54947022530 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not the reason for declining Rural Population?

Options :
Outmigration from Rural Areas
1. ®
Shift in the rural occupation pattern
2. %

Extension of urban boundaries to rural
3 %



High growth rate of rural population
4. v

Question Number : 75 Question Id : 54947022531 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The outcomes of the National Rural Health Mission (NRHM) are measured against
the standards of

Options :

World Health Organization
1. ®

. Indian Public Health Standards
2. ¥

. National Health Standards
3,

Regional Health standards
4. %

Question Number : 76 Question Id : 54947022532 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Economics 1s a study of human behavior in the context of unlimited wants and
limited resources that have alternative uses’. This is



Options :

Wealth Definition

Welfare Definition

2.
Scarcity Definition
3.¢
. Growth Definition
4,

Question Number : 77 Question Id : 54947022533 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Farm management studies estimated relationship between farm size and
productivity.

Options :
Positive

Inverse

Linear



Non-linear

Question Number : 78 Question Id : 54947022534 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Personal income is equal to
Options :

Net National Income —Direct Taxes + Transfer payments

1.v

Net National Income + Direct Taxes - Transfer payments
2. %

Gross National Income — Direct Taxes + Transfer payments
3. %

Gross National Income + Direct Taxes - Transfer payments
4.%

Question Number : 79 Question Id : 54947022535 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Rostow’s model of economic growth, the stage of Drive to Maturity comes

Options :

After Pre- conditions to take off but before Take-off
], %



After Take-off but before the Age of Mass Consumption

After Age of Mass Consumption but before Take-off

Before Take-off and before the Age of Mass Consumption

Question Number : 80 Question Id : 54947022536 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following was not implemented as a part of New Economic Reforms
during the initial years of 1990s?

Options :
Liberalization of industrial licensing policy
1 ®
Disinvestment in loss making public enterprises
2.
Golden handshake
3. %

Linking of bank accounts with the Aadhar Numbers
4. &



Question Number : 81 Question Id : 54947022537 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The headquarters of Small Industry Extension Training (SIET) Institute which is
renamed as NI-MSME:s is located in

Options :

Mumbai
1. %

Hyvderabad
2. =

New Delhi
3 %

Ahmadabad
4, %

Question Number : 82 Question Id : 54947022538 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The highest component of Central government Subsidies to farmers is on

Options :
Credit

1. ®

Fertilizer



Crops Insurance

Price Support
4.%

Question Number : 83 Question Id : 54947022539 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is true about the environment?
Options :
The environment includes only biotic factors

1. ®

The environment includes only abiotic factors
2. %

The environment includes both biotic and abiotic factors
3.9

The environment mcludes neither biotic nor abiotic factors

Question Number : 84 Question Id : 54947022540 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The difference between “what a person is willing to pay and what he actually pays’
refers to
Options :
Producer’s Surplus

1. ®

Marketable Surplus

2. ®

Consumer’s Surplus
3.¢

Sellers” Surplus

4. %

Question Number : 85 Question Id : 54947022541 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following soils is ideal for growing cotton?
Options :
Regur soil

1.v

Laterite soil
2. %



Red Soil

Mountainous soil

Question Number : 86 Question Id : 54947022542 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a common property resource in Rural Area?

Options :

Community Forests
1. ®

Village water Bodies
2. %

Pasture Lands

Farm fields of Landlord
4. &

Question Number : 87 Question Id : 54947022543 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not the component of Human Development Index?



Options :
Literacy

Longevity
2. %

Per capita Income
3. %

Infant Mortality
4. ¢

Question Number : 88 Question Id : 54947022544 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Total Fertility Rate drops have been most noticeable in countries where women
have gained access to

Options :

Education
1. v

Assets

Political Power



Parental Income

Question Number : 89 Question Id : 54947022545 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the data provided by the Ministry of Rural Development in the year
2022, Andhra Pradesh occupied Rank in the country in the number of SHGs.

Options :

L% First

Second

Third

Fourth
4, ®

Question Number : 90 Question Id : 54947022546 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An mfrastructure firm has invested Rs.500 crore m the construction of an over
bridge. In order to know whether the investment has yielded the desired results. the
firm has to conduct

Options :



Cost-Benefit Analysis

1.«

, Tangible Benefit Analysis
- Intangible Benefits Analysis
L x Cost-effectiveness Analysis

Question Number : 91 Question Id : 54947022547 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A formal document containing statement of research problem. objectives, and
methods to achieve these objectives and expected outcomes is known as

Options :

- Research Design
Research Questions

2. %

Research Report
3. %



Research Proposal
4.9

Question Number : 92 Question Id : 54947022548 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A researcher wants to study the relationship between the gender and habit of using
mobile phone. The data collected for this study will be

Options :

Qualitative Data
1.

. Quantitative Data
2.

Continuous Data

Classified Data

4. %

Question Number : 93 Question Id : 54947022549 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The value of Median can be obtained graphically through

Options :



Histogram

Frequency Polygon

2. %

Pie Diagram
3. %

Ogive
4. ¢

Question Number : 94 Question Id : 54947022550 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Causes of rural backwardness does not mclude

Options :
Low levels of productivity
1. ®
Backward Technology
2. %
Poor nutrition and health
3. %

Low levels of unemployment
4.9



Question Number : 95 Question Id : 54947022551 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The largest agricultural export commodity from India now is

Options :
Wheat

- Rice

Sugar
3. %

Spices
4. %

Question Number : 96 Question Id : 54947022552 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following Amendments to the Indian Constitution are related to the
Panchayati Raj Institutions?

Options :

4214 and 43" Amendment



86™ and 87 Amendment

2.

63 and 64™ Amendment
3. %

73 and 74™ Amendment
4. v

Question Number : 97 Question Id : 54947022553 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the Law of variable proportions, when the total output reaches its
maximum. Marginal Product (MP)
Options :
Diminishes

1. ®

Becomes zero
2.%

Becomes Negative
3. %

Equals to Average Product
4.%



Question Number : 98 Question Id : 54947022554 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Wages Fund” Theory was formulated by

Options :

| % Seligman

L J. B. Say

. J. B. Clark
J. S. Mill

4.9

Question Number : 99 Question Id : 54947022555 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements is true?
Options :

The share of public investment in agriculture as a proportion of total
investment is rising since 1950s.

The share of private mvestment in agriculture as a proportion of total
investment is rising since 1950s.



While the share of public investment as a proportion of total investment has
been rising that of private investment has been falling since 1950s.

The shares of both public and private investments as proportions of total

investments have been falling particularly since 1990s.
4. &

Question Number : 100 Question Id : 54947022556 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term “Small i1s Beautiful” is associated with

Options :
. Joseph Schumpeter
1.
E. F. Schumacher
2.
J. S. Mill
3.
, Hendry David

Question Number : 101 Question Id : 54947022557 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The District Industries Centres (DICs) were set up in India after the announcement
of Industrial Policy Resolution of

Options :
1948

1. ®

1956

2. %

Lo 1977

1980

Question Number : 102 Question Id : 54947022558 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The need for institutional credit to agriculture arises because, it is
Options :

Exploitative

High cost

Not related to the productivity
3. %



Properly integrated with the needs of the agriculturalists
4.

Question Number : 103 Question Id : 54947022559 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements is correct about Global warming?

Options :
It 1s the result of ozone layer depletion

1. ®
It is a natural phenomenon
2. %
It is the rise in the average temperature of the surface of the Earth
3.
It 1s another term used for “The Greenhouse Effect™.
4. %

Question Number : 104 Question Id : 54947022560 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is the main cause of land degradation in Punjab?

Options :



Intensive cultivation

], ®

Over-urigation
2. ¢

Deforestation
3. %

Overgrazing
4. %

Question Number : 105 Question Id : 54947022561 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Laterite soil is very useful for growing

Options :
Rice and Wheat

1. ®

Pulses and Sugarcane
2. %

Tea and Coffee
3.¢

Mustard and Resin



Question Number : 106 Question Id : 54947022562 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What percentage of our land should be under forest according to the National Forest
Policy 19527

33 Per cent

22.5 Per cent

31 Per cent

30 Per cent
4, %

Question Number : 107 Question Id : 54947022563 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who publishes the Global Human Development Report?

Options :

., UNDP



UNESCO

.« WHO

Infant Mortality
4. %

Question Number : 108 Question Id : 54947022564 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Participation of women is the lowest in India in the case of
Options :
Economic Activities
Social Activities

Political Activities

Cultural Activities

Question Number : 109 Question Id : 54947022565 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following need not be taken into account in the process of project
planning for Rural Development?

Options :
Clear understanding of the stakeholders’ collective needs

1. ®

Clear understanding of key processes to be undertaken.
2. %

Effective planning. organising and management of resources
3. %

Individual perceptions of stakeholders

Question Number : 110 Question Id : 54947022566 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the method of financial analysis of Project Evaluation.
Options :
Analysis of Capacity utilization

1. ®

Analysis of Expected Sales

2. %



Break-even Analysis
3.

Cost Analysis
4, %

Question Number : 111 Question Id : 54947022567 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a characteristic of a good research design?
Options :
Objectivity

1. %

Unreliability
2.¢

Validity

Generalization
4, ®

Question Number : 112 Question Id : 54947022568 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a Random Sampling technique?

Options :



Quota Sampling

1. ®

Judgement Sampling
2. %

Convenient Sampling
3. %

Systematic Sampling
4. &

Question Number : 113 Question Id : 54947022569 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements is not true about Coefficient of Correlation?
Options :

It measures the strength of the association between two related variables.

1. %

Its value ranges from -1 to +1.
2. %

When the variables are not related its value is equal to zero
3.

y It is independent of origin but not scale
4.



Question Number : 114 Question Id : 54947022570 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is nor a characteristic of underdevelopment?
Options :

High Unemployment

Low Income

2. %

L s Low productivity
Low Poverty

4.9

Question Number : 115 Question Id : 54947022571 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Housing for all by 2022™ is the slogan proposed under

Options :
IAY

1. %

PMAY-G



NHB

3. %

YSRCP

Question Number : 116 Question Id : 54947022572 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the Non-Renewable Source of energy?
Options :
Bio-gas

1. %

Fossil Fuel
2.9

Solar energy
3. %

Wind energy

Question Number : 117 Question Id : 54947022573 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“The development of relationships that help contribute to a more efficient
production of goods and services™ is known as

Options :



Physical Capital
Human Capital
Social Capital

Economic Capital

Question Number : 118 Question Id : 54947022574 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Cobb-Douglas production function Q = AL® KP, the Marginal Product of labour
is given by

Options :
.
v L
L
{1_
2. ® Q



a(Q—-L)

4. %

Question Number : 119 Question Id : 54947022575 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

National Income in India is estimated by

Options :

National Sample Survey Organization

1. %
Indian Statistical Institute
2.
Planning Commission
3. %
Central Statistical Organization(CSO)
4.9

Question Number : 120 Question Id : 54947022576 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the negative aspect of Globalization on the Rural Economy.
Options :

Increase i the mcome level
] ®



Removal of the rural-urban disparity

2.

Transmission of Global Oscillations
3.¢

Increased Employment opportunities for women in men dominated areas
4. %

Question Number : 121 Question Id : 54947022577 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following financial institution does not involve directly in the “Multi-
Agency Approach to Rural Credit?

Options :

Commercial Banks

- NABARD

Regional Rural Banks
3. %

Cooperative Societies
4. %

Question Number : 122 Question Id : 54947022578 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Agricultural Prices Commission (APC) which came into existence in January
1965 was renamed as the Comumission for Agricultural Costs and Prices (CACP) in

the year,
Options :

1975

1. ®

1985
2.¢

1991

3. %

2005

4, %

Question Number : 123 Question Id : 54947022579 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Land left without cultivation for one or less than one agricultural year is called
Options :
Culturable waste land

Current fallow land
2. ¢



Waste land

Infertile Land

Question Number : 124 Question Id : 54947022580 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pradhan MantriKaushalVikasYojana (2016 - 2020) is the flagship programme for
Options :

Mentally Retarded children

], %

. Physically Handicapped

3. ¢ Skill Development of Youth
L x Rehabilitation of Beggars

Question Number : 125 Question Id : 54947022581 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

MahbubulHaq, who devised the Human Development Report belongs to



Options :

{ Bangladesh
5 Saudi Arabia
3. Pakistan

. % 1raq

Question Number : 126 Question Id : 54947022582 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The root cause of gender discrimination against women in India is

Options :

Low female literacy

Low Earned Income

Low Political participation
3. %

Patriarchal mind set of the people
4.9



Question Number : 127 Question Id : 54947022583 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Fifth Goal of the Sustainable Development goals of the UNDP to be achieved
by 2030 relates to

Options :
Gender equality and Women Empowerment
1.¢

No Poverty

Zero Hunger

Good Health and Well-being

4. %

Question Number : 128 Question Id : 54947022584 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the process of formulation of research proposal. the statement of the objectives of
the study is immediately followed by the statement of

Options :

Secondary or primary data required
1. %



Tools of analysis of data

2. %

Hypotheses of the study
3.¢

Limitations of the study
4.%

Question Number : 129 Question Id : 54947022585 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The sampling technique extensively used m NSS surveys to select sample units is
Options :

Simple Random Sampling with Replacement (SRSWR)

1%
Simple Random Sampling without Replacement (SRSWOR)
2. %
Cluster Sampling (CS)
3.
Probability Proportional to Size (PPS)
4. v

Question Number : 130 Question Id : 54947022586 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following type of bar diagram is used to present dichotomy type of
data?

Options :
Sub-divided Bar Diagram

1. ®

Percentage Bar Diagram

Deviation Bar Diagram

Multiple Bar Diagram

Question Number : 131 Question Id : 54947022587 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

SPSS stands for
Options :
Statistical Package for Social Sciences

1. ®

Software Products for Statistical Solutions



Statistical Package for Social Solutions
3. %

Software Products Social Sciences
4, %

Question Number : 132 Question Id : 54947022588 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Which of the following is not one of the six components of “Bharat Nirman™
programme launched in 2005?

Options :

[rrigation
1. ®

Rural Roads
2. %

Rural Housing
3. %

Rural Industries
4, &

Question Number : 133 Question Id : 54947022589 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The National Commission on Farmers. 2004 was headed by



Options :

Norman Boarlogue

1. %

C. Rangarajan
2. %

M. S. Swamynadan
3. ¢

Y. C. Nanda
4, %

Question Number : 134 Question Id : 54947022590 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Growth Definition of economics was given by
Options :

Paul A Samuelson
1. v

J. R. Hicks

Milton Friedman



Simon Kuznets

Question Number : 135 Question Id : 54947022591 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In making decisions. a farm manager may not integrates information from

Options :

Biological sciences
1 ®

Physical Sciences
2. %

Medical Sciences
3.

Social Sciences
4, %

Question Number : 136 Question Id : 54947022592 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pension is the component of the

Options :

Subsidies



Taxes

Transfer payments

Public debt
4, %

Question Number : 137 Question Id : 54947022593 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of stages identified for development of a county by W.W. Rostow was

Options :

Two
1. %

Three

Four

Five
4.

Question Number : 138 Question Id : 54947022594 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



India’s rank in Global Innovation Index-2022 is

Options :

46
1. v

Question Number : 139 Question Id : 54947022595 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Rythu Bazars were introduced in Andhra Pradesh in the year
Options :

January 1999
1. ¢

July 1999

January 2000
3. %



July 2000

Question Number : 140 Question Id : 54947022596 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Soil 1s formed by the process of
Options :

Denudation

Gradation

Weathering
3.9 I

Erosion



